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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,294 86,068 41,053 45,015
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 179 583 281 302
RIRET4T 412 979 485 494
B 624 1,635 803 832
REH 2,709 6,076 2,818 3,258
L&A 4,331 9,393 4,370 5,023
5E 2,645 5,852 2,835 3,017
B AN 1,313 2,849 1,338 1,511
BERT 1,387 1,948 953 995
BER2T 854 1,469 716 753
BERST 689 1,639 788 851
B 2,930 5,056 2,457 2,599
BEXRE 275 639 312 327
= 2,203 4,899 2,329 2,570
hERE 644 1,425 659 766
e 2,460 5,027 2,432 2,595
25 L ET 2,342 5,063 2428 2,635
B &AL BT 76 151 63 88
HEFILET1T 560 1,198 557 641
HEFILET2T 607 1,270 604 666
HEZFILAT3T 664 1,501 736 765
g 1,907 4,120 1,960 2,160
B & it B Fr ET 689 1,543 743 800
BHEREBET1T 571 1,140 559 581
BHERERET2T 758 1,711 825 886
BHERERETST 795 1,604 727 877
BHERERET4T 513 933 439 494
HEKERETST 831 1,666 794 872
HEERET6T 881 1,886 917 969
BHERERET7T 899 1,860 925 935
HERERETST 70 206 102 104
£t| 5318 11,006 5,288 5,718
HEF R FET 2,014 4,147 2,020 2,127
S|EFET1T 635 1,577 785 792
S|EFET2T 780 1,750 822 928
S|EFET3 T 739 1,379 635 744
g 2,154 4,706 2,242 2,464
ERE1T 585 1,320 632 688
EIRET2T 392 1,037 515 522
EREIST 524 1,337 649 688
EIRETAT 688 1,443 642 801
EIZEIST 519 1,099 551 548
g 2,708 6,236 2,989 3,247
ME A 2,922 6,203 2,940 3,263
J\THET1T 32 33 14 19
J\THET2T 24 54 28 26
J\THEI3T 50 106 48 58
B 106 193 90 103
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